A B2} 5 (MSDS)

(OIXtR = Mt 2™ M= &oll oA &

MSR1000

&

t

=]
et

SISt RIS SIAL0 2
HEH

1.
It

H
00

r
i
ol
Hio

=

e
T 2WH OHHZ 640
044-555-4943

7

|

2
X
=}

| ol

=

o

(

I [ESPNS

Ct.

of
Il

0y
Kl

~

031-663-5251

10f
7
o
K]

~

e
0
o

o

Ok

I3
10
&
0
F
R
5

U

)

)
r

K0
Rr
1
R0
ur

21
=]

H315 IR0 =2 €2

1[3]
60

1A X

=
=

=1

H335

00

H373 &I

FAIR.

¢}

Mol WAL,

9|

ps

=
He RN HS

BI-AZY0)e EYE TGHAIR.

PG
=

1Ot

=

=
[

22 &

p271

=]

ot

FAI2.

[[e)

00

) &

20l 2oH CHES HIS2 22 N2 2.

P304+P340 & otH

o
i

1o}
H
&l
oJ

R0

iy
ol
of

nD
KO
1o}
H

b

P280 (

D sEo #2 HthZE &HE

|
FAIR.

9]

F
P305+P351+P338 =0l 22 F

P302+P352 1

[=
=

s

=2 ZYM AeA2. Jts

2t

It

|
M

CAL.

PN

S
=

FAL2. Al

9]

HIA

=



FAI2.

¢}

HXIE StAIR2.

)

P321 (-

P332+P313 LI Xt=0I
P337+P313 =0il Xt

ol X

i §
=

FAIL.

[

0 OAAE & AE

P403+P233 &7

FAI2.

s}

HEEHAM HE
70l HAIE S0l @tet) tHEs 201

SHAI 2.

£ Hol

2 ¥

P501 (

0l

i
izl

K

=l

7
0lo

o)

a

0
ok
oD
ak
K0
B0

aT
IH
R
e

IO B B S ®
< (@) (@) Yo} — o/o
Ol B BN T ) ol
el v N
- (@) o o . -
o0 ~ < — o
ol - |t
o | - | © _ N~
|| -+ | & N ©
alz| Pl | !
<la| 2] 2| 8
S ~|lof © <
80 | < Q ™~ ™
-
c
o
©
[0}
ol 3
C
© (@]
c| @
3| | ©
P >
s} o
a H_
o | X
o | w
=
©
s
=
>
o= aQ
@ o
Slelel 8,
2 | 8] 2 3
© S| © £ S =
80 | < o | = = paS
by pre QO < © ‘» o
Rl ol 51 2|l =] ©
0 > o = > X
.rs_ > | £ 0 £
ol ) & o oS =
wml|l el 21| o© =
| L 2 cE =
Sl S|I5|EE| F
< <
= [ea)
175} [
=z

Lot

50

=
Ki
no
010

FAI2. HHl

g

=2 DA A2AIR. JisotH 2EHEUXE M A

~

2]

ok
& of
ol=<
0 ol
= =
JH A

P2 20l 82

i
o

i
R

Ik

1=

OLHAIR

o

FAI2.

CHAl AFE & NIES

=2 %n

FE

ot J|

JIZ HIAH

o
i
= o

ol
o

ol
o

&0
i
o8
=
o
oD
1o}

ol
700
=)
I

EX-EHS FTHAIL.

&M
ol
ol

o

O,

Jl

o
o0

[=1]
il

o
&%

ol

=
[}

-

ArgS

xo
- =

JIEL 2l ALS)

Ot.

10
10

'.

-StTHAI CH A

!

oll
Hr

5.




R
1o

OF
R0
ur
1
20

—_

w

KU

ol
ol

A

A O
= T

gt st

=

JFE Al 8210t =

oL It

[e13
s

SN

—
=

PADS

2ST7E HESAL.

o

FAI2

10
110y
4

t

XI5t

OF
e

Kl

o

FAI2

[[e]

2

0.

(PPN

=
=

f SA SUAIL
tCHE SeiUt Bt

FAI2
A2

[¢]

=
=3

0l

=

=
= A=
£ 4l

I A 3HEHI

=

FIIANL
o

=

=

FRHe

M A0 SAHLIAIR

=l

HE Ol

FRHAL ZITHOACIOIA A BkEE A LE
3

FRHAL SR 2

3
FRH Al
H =FAIL

3

GHAl 2CHEH SHTHXIZ 0 Z01
=l

3
43

g3
=

EH
S
El

SHIH & 2 Al

9

Ct.

i1l
10

I.

APDAI THA

Kl
J

of

Cl
0
K
K

o)

ELl

=
1o

ok

1o
o}
iy
U
=

ol

FH D

=

S

b

I XFS MM 2 A WHAIL.

S0l €2A2.

EH
=

NEd

= MA

=<

ol

7. #

Ol XIS MWINDIDF &0t

=3
-

JIJF BISI&

=
=

=
=)

X

0

o
s
Kl
ol

| A2AIL.

HAI2.

[¢]

FAIL.
X

|

=
=

FO4 At
2 (/]

AL,
[2/ME0l

=]
T

Hu HE3|

=

A E" ZE|0 =

Kir

.

al
<}
R
Rr
ﬂ
110

<

[[[e]
&)
of)
oy
o
0
ul

o)

0

FAIL.

o)
TWA - 10mg/m3

B X

=WH7E
ACGIH #&

K

L
H
&I
ol
o

20



ol
A0
uJ
J
i
il
K4

)

KW

FHALE Bl=&28 &)

EAM

gl
&I
ol
Ho
o)
&Il
Rr

t2 KX

0lo

— W

&) THr
08 H

FAIL.

LM A

NIt HI 2F

= &l

FALE AFE St

ol

of

1of
il

H

of
H

<1

R3]
i
Rr
ol
o

1]

il
ol

Paste

-

<0
X0

-

<0
B

30
o)
ol

=AM

L.

HMEX

Ct.

ct. pH

R0
J

RO
J
4

oF
ill
KO
Ju
A%
=]
RO
Ju

]

~
K

> 100°C

RO
o

ol

dl, J1A)

(1%

d

X0
0y
ol

t

Xt

0
)
°
0
<0
or

oF
il

ol
Hr
J
H
ﬁ&

ol

.

ol

m
Klo

1.50 ~ 1.60

H. n-

H

1o

I

ary

200,000 ~ 400,000cps(#7 spindle, 20rpm)

N
oI

et

.

n0

H

X0
0/0
J
ok
X0
RO
ol

00

o

il

ak

RO

oJ
Rr
ol
I

00

A O
= T A

gt stk

=

IS A IOt =

hY
K4
ol

-
o

1=

Rl
Ot
0
or
o

i
0
3]

ol OF

I

Ct.

Kl
il

-

o
S
i

)
20

o

It

g

%0
ii0J
7l
30
ur

il
R0
)
)

&0
L
H
oy

£

0l

o

7
o
iof



ol
=]

=g =

F

27

=]

AFESOIIH Z 01

&EJ)|-Draize tes2 28 Xt=, ME0AHA= 2
s §

e 8!-Draize tes2| =&t Xt

LD50 6450 mg/kg Rat

pill]
i
H
Kl
ol
ol
<

In vitro Salmonella typhimurium Ames testAl CH A

IARC
OSHA
ACGIH
NTP

EU CLP

i
H

o}

£
Uir

KO0
Rr
2
RO
ur

il

=
[}

ol

K
H

Rr
1
RO
ur

LC50 > 56000 mg/4 96 hr
EC50 22000 mg/4 96 hr

12. &30 0|

X0
=

i3]

FAIL.

¢}

HiJ|

=
=

ted g0l ZAIE LHE0 Tet) WS2 &2

e

BCF 3.162

(

CE20IsY
Jh HOIEE
HIDIAl =2l ALE

13. HIJIAI =2IA
Lt.

RO
iloJ

@l

{0
0

S(UN No.)

| &

o

00

=
[[s}

T

)
Rr
X
RO
Rr

0l0

00

-
o

N =
S Sg

=}
(=]

oA 2l

oA
[REy—y

Ct.

o

00

=
[[s}

i
Uo

00



KU
il
a0

o0

=
[}

oo

00

=
[}

=
KA
20

I

FRH AL HI

3

o

15. HE AN &

R
il
R0
R
Kh

o
H

T Al

A

=
S
5!

ol 2l

o

2ol 2

o

st A
ol 2l

Hol=2c gl 2

ct.

Al

5t

fill
i
o1

Ok JIEt =W &

SUAHM

o

00

=
1o

=AM

o

00

=
1o

OSHA #3&)

o

CERCLA #3%)

o

00

=
1o

EPCRA 313 7 &)

0

0

D O O O = = —

|=2edE

0
0

|22

Ol=2clEe
n=22cde

Dl=2el¥E

oo

00

=
1o

0

oo

00

=
1o

0H
K]

RO

[

100

KO

0o

=E

, KOSHA, NTE, ESIS, NLM, SIDS, IPCS, NCIS

2012-04-13

all
£

K
)

oK

<+
o
R0

2017-09-01

ct. JIE

HZ 3 AME0l OtL

il
1 ol
ol no
GRS
B

i) H




